

International Journal of Psychology and Educational Studies, 2018, 5(3), 1-13

International Journal of Psychology and Educational Studies



Exploring Teachers' Resilience in Relation to Job Satisfaction, Burnout, Organizational Commitment and Perception of Organizational Climate

Deniz Demir Polat¹ & Murat İskender²

^{1, 2} Sakarya University, Turkey

ARTICLE INFO

Article History: Received 19.04.2018 Received in revised form 20.06.2018 Accepted 27.06.2018 Available online 10.10.2018

ABSTRACT

This study is a descriptive research study investigating the relationship of teachers' resilience levels with job satisfaction, burnout, organizational commitment and perception of organizational climate. Within the scope of the study, teachers' resilience level was also investigated with regard to its relationship with gender, age, experience and the school level they teach. The study group consisted of 581 teachers. The data were collected through "Personal Information Form", "The Resilience Scale for Adults", "Job Satisfaction Scale", "The Burnout Measure Short Version", "Organizational Commitment Scale for Teachers" and "The Organizational Climate Description Questionnaire." The results revealed a significant negative relationship between teachers' resilience levels and burnout; and significant positive relationships between teachers' resilience levels and organizational commitment, job satisfaction and perception of organizational climate. As a result of the one way ANOVA analysis regarding the differences between resilience levels of the teachers working at different school levels, it was found out that the resilience level of the teachers working at high schools differ significantly from the ones working at secondary schools in the family cohesion subscale, one of the sub dimensions of resilience. Additionally, resilience levels of the teachers who work at secondary schools were found to be significantly lower compared to the teachers who work at elementary schools and high schools. When the level of resilience was examined in relation to gender, it was concluded that there was no significant difference between the mean scores of the male and female teachers. The only significant difference was found in the perception of self subscale, where the mean scores of the male teachers were higher than the female teachers. There was no significant difference in teachers' resilience or sub-scales of it in terms of age and experience of the participants.

© 2018 IJPES. All rights reserved

resilience, burnout, job satisfaction, organizational commitment, organizational climate, gender, experience, age, school level

1. Introduction

Looking at the literature, it is possible to find various definitions of resilience and many different points emphasized in these definitions. Stewart, Reid and Mangham (1997) have identified the common themes of these definitions as follows: The risk factors brought about by multi-stress life events and the protective factors that alleviate the adverse effects of the risk contribute to the individuals' resilience. Resilience consists of a balance between stress and the individual's ability the to cope. As long as the individuals succeed, their talents are strengthened. Resilience is a complex mutual game between the individuals' environment and certain characteristics of them. It is dynamic and developmental, and it is the most important factor in life transition periods (Yılmaz & Sipahioğlu, 2012). This construct was introduced to Turkish literature by Öğülmüş (2001), and was re-defined by Gizir (2004) and Terzi (2008) later on.

Previous research have shown the importance of resilience for the individual. Maddi and Kobasa (1984) argue that those who are more resilient are less sensitive to and depressed about the problems they face; Just (1999)

^{*}This work was produced from the first author's master's thesis, which was supervised by the second author,

²Corresponding author's address: Sakarya University, Faculty of Education, Department of Educational Sciences, 54300 Sakarya, Turkey e-mail: iskender@sakarya.edu.tr http://dx.doi.org/10.17220/ijpes.2018.03.001

put forward that resilient people do not give up easily, continue their tasks whatever the circumstances are, and are focused on finishing their work; Hanton, Evans and Neil (2003) stated that these people have the power and the desire to benefit from adverse situations besides capacity to influence their environment (Yalçın, 2013).

Teachers, who face and struggle with many difficulties in their professional life, need their resilience to be at a high level. Teaching is a profession members of which are confronted with many situations that generate stress and conflict. Teachers are expected to continue their work efficiently despite everything. The goodness of a teacher is linked to enjoying success, being resistant to stressful school environment, having other people who they can communicate both inside and outside the school, being able to solve the problems they face at school, making suggestions to students and parents for difficult conditions, being responsible and consistent, having their own ideas about the profession, continuous self-development and wanting to be a good teacher (Bayrak, 2004). Negative situations teachers come up with both in the education system and in the school setting may prevent them from having these qualities.

Job satisfaction, in general, means the pleasure and happiness that an individual receives from his/her working life. Environmental factors (work, working environment, etc.), demographic factors (age, gender, etc.) and psychological factors can affect teachers' job satisfaction (Crossman & Harris, 2006). Also, people may experience burnout at any level, no matter what their job is and which position they work in (Mestcioğlu, 2007, as cited in Demir & Kara, 2014). Teachers have an important place among employees who experience burnout. According to various scholars, teachers have more stress than members of other professions (Baltaş & Baltaş, 2000). Stress factors such as student discipline problems, student insensitivity, crowded classes, involuntary appointments, role conflicts, and criticisms may lead them to burnout (Farber, 1984). Taking all these into consideration, it is conceivable that the resilience qualities of teachers can protect them from burnout and increase their satisfaction with their job.

It is accepted that all the staff working in the school together constitute an organization. In Turkey, the most crowded group of this organization comprise of teachers. Organizational commitment is a term which combines attributes such as protecting organizational values, adopting the goals of the organization, willingness to work for the organization and to continue to work in the organization (Allen & Meyer, 1990; O'Reilly & Chatman, 1986). Tsui and Cheng (1999) defined teachers' organizational commitment as being involved in their school and identifying themselves strongly with the school. Measuring the productivity of teachers is quite difficult; therefore, the source of good education is considered to be teachers' knowledge and their organizational commitment (Firestone & Pennell 1993). Existence of teachers who are committed to their organization despite the difficulties in the educational environment creates curiosity about the psychological characteristics underlying this commitment.

Another important factor influencing teachers and is influenced by teachers in educational settings is organizational climate. Organizational climate is the organizational characteristics that members of an organization live in, that affects their behaviors and that can be expressed by organizational values (Tagiuri, 1968). When talking about organizational climate, it should be noted that this factor is made up of perceptions. Definitions of climate consist of emotional expressions of individuals and may vary for each individual (Karadağ, Baloğlu, Korkmaz, & Çalışkan, 2008). Members of an organization living in the same climate can have different perceptions. The climatic conditions are determined by the perceptions of the members, and therefore, the psychological states that affect perceptions are subject to research.

The fact that the teacher has an important position in the education system makes this profession the main focus of many research studies. Most research focus on the factors that affect teachers' performance and list what is required for the teacher to perform better in the existing education system. Considering the fact that teachers take on such an important and challenging task as raising a generation, it is necessary to examine the attitude they will adopt when confronted with difficulties. This research study aims to investigate the relationship of teachers' resilience level with job satisfaction, burnout, organizational commitment level and perception of organizational climate in addition to some demographic variables (gender, age, experience and the school level they teach). The findings of the study are expected to help the understanding of teachers' resilience and provide implications for further research.

The following research questions were intended to be answered:

- 1. Is there a relationship between teachers' resilience levels and job satisfaction, burnout, organizational commitment and perception of organizational climate?
- 2. Does teachers' resilience level differ according to gender, age, experience and school level they teach?

2. Method

This study is a descriptive research study which investigates the relationship of teachers' resilience level with job satisfaction, burnout, organizational commitment and perception of organizational climate.

2.1. Participants

The study group consists of 581 teachers working in Bursa, Sakarya and Yalova provinces in the 2014-2015 academic year. 415 (71,4%) of the teachers in the study group are female and 166 (28,6%) are male. 211 (36.31%) of the participants were between the ages of 22-30, 229 (39.41%) of them were between 31-40, 117 (20.13%) of them were between 41-50, and 24 (4.13%) of them were over 51. 29 (%4.99) of the participants were teachers at kindergarten, 234 (40.27%) of them were at elementary school, 156 (26.85%) of them were at secondary school, and 162 (27.88%) of them were at high school. When the participant experience in the profession is examined, it is observed that 308 (53.01%) of them had 1-10 years, 108 (18.58%) of them had 11-15 years, 85 (14.62%) of them has 16-20 years, and 80 (13.76%) of them had over 21 years of experience.

2.2.Data Collection Instruments

The data of the study were collected through personal information form developed by the researcher, The Resilience Scale for Adults, Job Satisfaction Scale, The Burnout Measure Short Version, Organizational Commitment Scale for Teachers and The Organizational Climate Description Questionnaire.

2.2.1. Personal Information Form

The personal information form prepared by the researcher consists of 4 questions aiming to collect information on the teachers' gender, age, school level and experience in years.

2.2.2. The Resilience Scale for Adults

The Resilience Scale for Adults was developed by Friborg et al. (2005) and adapted to Turkish by Basim and Çetin (2011). The scale consists of 33 items in total; and has a 6-factor structure comprising of structured style, planned future, family cohesion, perception of self, social competence and social resources. Regarding the scoring, which is set free in the original version of the scale, high scores are accepted as indication of high resilience in this study.

2.2.3. Job Satisfaction Scale

Job Satisfaction Scale was developed by Hackman and Oldham (1975) and adapted to Turkish by Silah (2002). This scale was applied to teachers by Taşdan (2008) and validity and reliability analyzes were performed. Job Satisfaction Scale, which is used to measure an individual's evaluation of his/her job, is composed of 14 items evaluated on a five Likert-type scale. According to the findings of Taşdan (2008), it has a single-factor structure. The factor loadings of the items in the scale ranged from .69 to .86, and item-total correlations ranged from .66 to .84. The total variance explained by the scale is 64%. The Cronbach alpha internal consistency coefficient of the scale is .95 (Yılmaz & Altınkurt, 2012).

2.2.4. The Burnout Measure Short Version

The Burnout Measure Short Form (BM-SV), developed by Pines (2005), was formed in the contextual basis of the 21-item Burnout Measure (BM), developed by Pines and Aronson in 1988, which assesses the physical, emotional and mental fatigue levels of a person. BM-SV consists of 10 items to measure the occupational burnout level of the persons, and is answered on a seven-point scale (1 Never; 7 Always). The adaptation, validity and reliability studies of the scale were made by Çapri (2013); and a single-factor structure was obtained as a result. This single factor was found to have an eigenvalue of 5.52 and a total variance explanation rate of 55.17%. The internal consistency coefficient was calculated as 0.91.

2.2.5. Organizational Commitment Scale for Teachers

Developed by Üstüner (2009), Organizational Commitment Scale for Teachers aims to measure the level of organizational commitment of teachers working at elementary and secondary schools. The scale was composed of one dimension and 17 five-level Likert items as a result of the exploratory and confirmatory factor analyses. It was found that this scale had a high positive relationship with the Minnesota Satisfaction Scale, and a moderate negative relationship with the Maslach Burnout Inventory. The internal consistency coefficient of the scale was calculated as .96, and the test-retest correlation coefficient was .88 (Üstüner, 2009).

2.2.6. The Organizational Climate Description Questionnaire

The Organizational Climate Description Questionnaire for Elementary Schools (Hoy &Tarter, 1997) was adapted to Turkish by Yılmaz and Altınkurt in 2013. Paying attention to the original and Turkish versions, constructs were named as "Supportive Principal Behavior", "Directive Principal Behavior", "Restrictive Principal Behavior", "Intimate Teacher Behavior", "Collegial Teacher Behavior" and "Disengaged Teacher Behavior". The questionnaire consists of 39 items, and is answered on four Likert-type scale with options rarely, sometimes, often and frequently. The factor loadings of the items in the scale ranges between 0.46 and 0.82; item-total correlations between 0.35 and 0.77; and reliability coefficients 0.70 and 0.89 (Yılmaz & Altınkurt, 2013).

3. Results

In this section, the relationship between the resilience levels of teachers and job satisfaction, burnout, organizational commitment and perception of organizational climate was examined; and whether the levels of resilience differed according to some demographic characteristics (gender, age, experience and school level) was investigated. The results obtained are given in tables.

3.1. The Relationship Between Teachers' Resilience and Job Satisfaction, Burnout, Organizational Commitment, and Perception of Organizational Climate

Pearson's correlation coefficients were examined in order to find out the relationship between the resilience levels of teachers and job satisfaction, burnout, organizational commitment and perception of organizational climate; and the results are presented in Table 1.

Table 1. Correlation Values Regarding The Relationship Between Teachers' Resilience and Job Satisfaction, Burnout, Organizational Commitment, and Perception of Organizational Climate

	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17
1Resilience Level	-																
2. Structured Style	.41**	-															
3. Planned Future	.62**	.15**	-														
4. Family Cohesion	69**	.12**	.31**	-													
5. Perception of Self	.76**	.24**	.50**	.35**	-												
6. Social Competence	.72**	.17**	.31**	.33**	.46**	-											
7. Social Resources	.77**	.22**	.36**	.50**	.46**	.47**	-										
8.Organizational Commitment	.25**	.07	.20**	.12**	.27**	.18**	.18**	-									
9. Burnout	30**	14*	*28*	13*	*33*	*19**	*18**	*31**	k_								
10. Job Satisfaction	.24**	.07	.22**	.13**	.22**	.16**	.17**	.61**	41**	k_							
11. Organizational Climate	.17**	.05	.14**	.09*	.12**	.13**	.14**	.48**	12**	*.42**	-						
12. Supportive Principal Behavior	.08	03	.10*	.04	.09	.05	.04	.68**	23**	*.46**	.59**	-					
13. Intimate Teacher Behavior	.20**	.24**	.07	11*	*10*	*10**	*.17**	.18**	.26**	.44**	. 57**	.51**	-				
14. Directive Principal Behavior	.04	.03	.08	.03	.02	01	.02	.02	.03	. 07	.48**	01	.18**	-			
15. Collegial Teacher Behavior	.21**	.07	.14**	.13**	.18**	.17.	.16**	.52**	27**	*.49**	.68**	.41**	.54**	.09*	-		
16. Restrictive Principal Behavior	.02	.06	01	03	.03	.00	.02	13**	*.13**	11**	*.19**	14*	*01	02	06	-	
17. Disengaged Teacher Behavior	15**	04	11*	*13*	*13**	*09*	10**	*33**	*.30**	28**	*09*	30**	*05	.12**	25**	* .16*	* _
$\bar{\mathrm{X}}$	134,94	14,60	16,64	24,43	24.75	24.18	30.34	51.26	28.67	44.54	96.46	24.40	18.52	14.33	18.75	12.10	0 8.35
Ss	13.77	2,42	2.55	4.02	3.64	4.00	3.59	14.96	9.52	8.94	11.54	5.78	4.30	4.19	3.62	2.82	2.84

^{*} p <.05, ** p <.01

When Table 1 is examined, it is observed that there are significant relationships between teachers' resilience and burnout (r=-.30), organizational commitment (r=.25), job satisfaction (r=.24) and perception of organizational climate (r=.17). In addition, it was found that there was a significant correlations between teachers' resilience and some subscales of organizational climate such as collegial teacher behavior (r=.21), intimate teacher behavior (r=.20) and disengaged teacher behavior (r=-.15). When the subscales of resilience are examined, structured style has significant relationships with burnout (r=-.14) and one of the organizational climate subscales, intimate teacher behavior (r=.24). Planned future subscale has significant relationships with organizational commitment (r=.20), burnout (r=-.28), job satisfaction (r=.22), organizational climate (r=.14), collegial teacher behavior subscale of organizational climate (r=.14) and disengaged teacher behavior subscale of organizational climate (r=.11).

Additionally, family cohesion subscale of resilience has significant relationships with organizational commitment (r= .12), burnout (r= .-13), job satisfaction (r= .13), intimate teacher behavior subscale of organizational climate (r= .-11), disengaged teacher behavior subscale of organizational climate (r= .-13) and collegial teacher behavior subscale of organizational climate (r= .13).

Perception of self subscale of resilience is found to be significantly related to organizational commitment (r=.27), burnout (r=.-33), job satisfaction (r=.22) and organizational climate (r=.-12). Furthermore, perception of self subscale has significant relationships with intimate teacher behavior subscale of organizational climate (r=.-10), disengaged teacher behavior subscale of organizational climate (r=.-13) and collegial teacher behavior subscale of organizational climate (r=.18).

Another subscale of resilience, social competence, is found to be correlated with organizational commitment (r= .18), burnout (r= .19), job satisfaction (r= .16), organizational climate (r= .13), and an organizational climate subscale, intimate teacher behavior (r= .10). Moreover, social resources subscale of resilience is correlated with organizational commitment (r= .18), burnout (r= -.18), job satisfaction (r= .17), organizational climate (r= .14), intimate teacher behavior subscale of organizational climate (r= .17), disengaged teacher behavior subscale of organizational climate (r= .16). It is also noted that there is no significant relationship between resilience level of teachers and principal behavior types (supportive principal behavior, r= .08 , directive principal behavior, r= .04", "restrictive principal behavior., r= .02).

3.2. The Relationship Between Teachers' Resilience and Gender, Age, Experience and School Level

An independent groups t-test was conducted to determine whether teachers' resilience levels differed according to gender, and the results are presented in Table 2.

Table 2. Independent Groups t-Test Results Regarding Differences in Teachers' Resilience Levels by Gender

Variable	Gender	N	Χ	Ss	t	Sd	р
Resilience Level	Female	415	135,40	13.73	1 205	F70	100
Resilience Level	Male	166	133,78	13.83	1.285	579	.199
C 1C. 1	Female	415	14.73	2.40	0.170	F70	420
Structured Style	Male	166	14.25	2.44	2.172	579	.428
Characterist of Charles	Female	415	16.71	2.55	1 107	F70	260
Structured Style	Male 1 Female 4	166	16.46	2.54	1.127	579	.260
Family Calasian	Female	415	19.09	4.39	F 20	F70	.190
Family Cohesion	Male	166	17.08	3.67	5.20	579	.190
Dangartian of Cali	Female	415	24.67	3.69	808	579	.029
Perception of Self	Male	166	24.94	3.53	000	379	.029
Cogical Commentence	Female	415	24.21	4.00	.247	579	.804
Social Competence	Male	166	24.11	4.03	.247	379	.004
Social Resources	Female	415	30.50	3.47	1.713	579	.087
Jociai Resources	Male	166	29.93	3.85	1./13	3/9	.007

When Table 2 is examined, there is no significant difference between the scores obtained from males and females except for the perception of self subscale. When the scores obtained from the perception of self subscale are examined, it is found that the mean scores of the males (M: 24.94, SD: 3.53) are significantly higher than the mean scores of the females (M: 24.67, SD: 3.69, t: (579): -.808, p:.029) .

One-way analysis of variance was conducted to determine whether teachers' resilience levels differed with respect to age groups, and the results are presented in Table 3.

Table 3. One-way ANOVA Results Regarding Differences in Teachers' Resilience Levels by Age Groups

Variables		N	X	Source of	Ss	Sd	Ms	F	p
				Variation					
Resilience	22-30	211	134,83	Between groups	142,68	3	47,56	,250	,861
Level	31-40	229	134,51	Within groups	109791,34	577	190,28		
	41-50	117	135,81	Total	109934,02	580			
	51-100	24	135,60						
	Total	581	134,93						
Structured	22-30	211	14,38	Between groups	31,63	3	10,54	1,805	,145
Style	31-40	229	14,65	Within groups	3370,33	577	5,84		
	41-50	117	14,67	Total	3401,97	580			
	51-100	24	15,52						
	Total	581	14,60						
Planned	22-30	211	16,83	Between groups	13,05	3	4,35	,668	,572
Future	31-40	229	16,52	Within groups	3756,67	577	6,51		
	41-50	117	16,62	Total	3769,73	580			
	51-100	24	16,33						
	Total	581	16,64						
Family	22-30	211	24,42	Between groups	12,38	3	4,12	,254	,858
Cohesion	31-40	229	24,47	Within groups	9377,60	577	16,25		
	41-50	117	24,54	Total	9389,98	580			
	51-100	24	23,76						
	Total	581	24,43						
Perception	22-30	211	24,44	Between groups	86,51	3	28,83	2,186	,089
of Self	31-40	229	24,63	Within groups	7612,25	577	13,19		
	41-50	117	25,46	Total	7698,76	580			
	51-100	24	25.11						
	Total	581	24,75						
Social	22-30	211	24,32	Between groups	17,51	3	5,83	,363	,780
Competence	31-40	229	24,03	Within groups	9270,93	577	16,06		
	41-50	117	24,10	Total	9288,44	580			
	51-100	24	24,74						
	Total	581	24,18						
Social	22-30	211	30,45	Between groups	8,32	3	2,77	,215	,886
Resources	31-40	229	30,21	Within groups	7456,61	577	12,91		
	41-50	117	30,43	Total	7464,93	580			
	51-100	24	30,13						
	Total	581	30,34						

When Table 3 is examined, no significant difference between teachers' resilience levels or subscales of it and four different age groups is observed (p> .05).

One-way analysis of variance was conducted to determine whether teachers' resilience levels differed with respect to school level, and the results are presented in Table 4.

Table 4. One-way ANOVA Results Regarding Differences in Teachers' Resilience Levels by School Level

Variables		N	X	Source of Variation	Ss	Sd	Ms	F	p
Resilience	Kindergarten	29	136,81	Between groups	966,403	3	322,134	1,706	,165
Level	Elementary	234	135,74	Within groups	108967,624	577	188,852		
	Secondary	156	132,86	Total	109934,027	580			
	High	162	135,42						
	Total	581	134,93						
Structured Style	Kindergarten	29	15,24	Between groups	14,935	3	4,978	,848	,468
	Elementary	234	14,53	Within groups	3387,039	577	5,870		
	Secondary	156	14,66	Total	3401,974	580			
	High	162	14,50						
	Total	581	14,60						
Planned Future	Kindergarten	29	16,14	Between groups	12,451	3	4,150	,637	,591
	Elementary	234	16,77	Within groups	3757,282	577	6,512		
	Secondary	156	16,57	Total	3769,733	580			
	High	162	16,61						
	Total	581	16,64						
Family Cohesion	Kindergarten	29	24,80	Between groups	212,292	3	70,764	4,449	,004
	Elementary	234	24,73	Within groups	9177,698	577	15,906		
	Secondary	156	23,44	Total	9389,989	580			
	High	162	24,89						
	Total	581	24,43						
Perception	Kindergarten	29	25,38	Between groups	42,301	3	14,100	1,063	,364
of Self	Elementary	234	24,83	Within groups	7656,461	577	13,269		
	Secondary	156	24,35	Total	7698,761	580			
	High	162	24,90						
	Total	581	24,75						
Social	Kindergarten	29	30,82	Between groups	25,811	3	8,604	,536	,658
Competence	Elementary	234	30,49	Within groups	9262,634	577	16,503		
	Secondary	156	29,96	Total	9288,445	580			
	High	162	30,39						
	Total	581	30,34						
Social	Kindergarten	29	24,43	Between groups	34,950	3	11,650	,905	,439
Resources	Elementary	234	24,38	Within groups	7429,987	577	12,877		
	Secondary	156	23,88	Total	7464,938	580			
	High	162	24,14						
	Total	581	24,18						

When Table 4 is examined, significant statistical differences are found between four school levels only in the family cohesion subscale [F(3,577) = 4.449, p < .01]. Despite the statistical significance between groups, it appears that the real difference between the average scores of the groups is quite small. The effect size calculated using Eta square was found to be .002. This level indicates that the effect size is very small. In order to determine which groups differ significantly, Tukey HSD was used. According to the results, the

mean score obtained from the teachers in the high school (M = 24.89, SD = 3.66) is significantly higher than teachers in the secondary school (M = 23.44, SD = 3.99). Furthermore, the secondary school group (M = 23.44, SD = 3.99) has significantly lower scores compared to the elementary school group as well (M = 24.73, SD = 4.24).

One-way analysis of variance was conducted to determine whether teachers' resilience levels differed with respect to experience, and the results are presented in Table 5.

Table 5. One-way ANOVA Results Regarding Differences in Teachers' Resilience Levels by Experience

Variables		N	X	Source of Variation	Ss	Sd	Ms	F	р
Resilience	1-10	308	134,82	Between groups	262,196	3	87,399	,460	,710
Level	11-15	108	134,99	Within groups	109671,830	577	190,072		
	16-20	85	133,91	Total	109934,027	580			
	21-100	80	136,39						
	Total	581	134,93						
Structured	1-10	308	14,45	Between groups	36,636	3	12,212	2,094	,100
Style	11-15	108	14,96	Within groups	3365,338	577	5,832		
	16-20	85	14,33	Total	3401,974	580			
	21-100	80	14,94						
	Total	581	14,60						
Planned	1-10	308	16,74	Between groups	11,014	3	3,671	,564	,639
Future	11-15	108	16,45	Within groups	3758,719	577	6,514		
	16-20	85	16,45	Total	3769,733	580			
	21-100	80	16,71						
	Total	581	16,64						
Family	1-10	308	24,51	Between groups	19,921	3	6,640	,409	,747
Cohesion	11-15	108	24,35	Within groups	9370,068	577	16,239		
	16-20	85	24,05	Total	9389,989	580			
	21-100	80	24,68						
	Total	581	24,43						
Perception of	1-10	308	24,46	Between groups	66,326	3	21,442	1,621	,183
Self	11-15	108	24,88	Within groups	7634,436	577	13,231		
	16-20	85	25,03	Total	7698,761	580			
	21-100	80	25,37						
	Total	581	24,75						
Social	1-10	308	24,27	Between groups	24,190	3	8,063	,502	,681
Competence	11-15	108	23,98	Within groups	9264,254	577	16,056		
-	16-20	85	23,83	Total	9288,445	580			
	21-100	80	24,47						
	Total	581	24,18						
Social	1-10	308	30,38	Between groups	2,949	3	,983	,076	,973
Resources	11-15	108	30,38	Within groups	7461,988	577	12,932		
	16-20	85	30,23	Total	7464,938	580			
	21-100	80	30,22						
	Total	581	30,34						

When Table 5 is examined, no significant difference between teachers' resilience levels or subscales of it and four different experience groups is observed (p> .05).

4. Conclusions and Implications

In this section, initially, the relationship between teachers' resilience and burnout, job satisfaction, organizational commitment and perception of organizational climate is elaborated along with the research questions, and differences in teachers' resilience levels according to their demographic characteristics (gender, age, experience and school level) are discussed next.

Findings of this study have shown that there is a significant negative correlation between resilience and burnout. It has been observed that previous research examining the relationship between burnout and resilience have suggested similar findings (Basım & Çetin, 2011; Lammers, Atouba & Carlson, 2013; Büyükşahin Çevik, Doğan & Yıldız, 2016). In addition, the study conducted by Bitmiş, Sökmen and Turgut (2013) has indicated that the level resilience has a direct negative effect on burnout. In the study performed by Çetin, Şeşen and Basım (2013), the effect of organizational psychological capital on burnout was investigated, and a negative relationship between emotional exhaustion, one of the sub-dimensions of burnout, and resilience, which is considered as a component of psychological capital, was revealed. It is expected that individuals with high levels of resilience will be able to behave adaptively with changes and succeed in struggling against difficulties. As individuals become more resilient, they will be less affected by difficult conditions in the work environment. Thus, they will experience a lower level of burnout. Therefore, it can be said that a negative relationship between these two variables is an expected result.

One of the findings of the study is that there is a significant positive relationship between resilience and organizational commitment. These findings are also in parallel with previous studies in the literature (Luthans & Jensen, 2005; Larson & Luthans, 2006; Youssef & Luthans, 2007; Genç, 2014). In the literature, there are findings revealing that resilience is positively related to not only organizational commitment but also job satisfaction and job performance (Basim & Çetin, 2011; Luthans, Avolio, Avey, & Norman, 2007). These results show that as the level of resilience increases, individuals will be more committed to their organizations. It can be argued that individuals with higher levels of resilience will internalize the rules of the organization and their responsibilities within the organization, and will want to contribute to their organizations more than other members of it. There are studies also showing that as organizational commitment increases, job performance increases, and job withdrawal and absenteeism decrease (Abbott, White & Charles, 2005; Larrabee et al., 2010; Luthans, 2005, Basim & Cetin, 2011).

Another finding of the study showed that there is a significant positive relationship between resilience and job satisfaction levels. In the literature, research that investigates only the relationship between resilience and job satisfaction has not been encountered, but there are studies investigating the relationship between resilience and resilience as a dimension of positive psychological capital and job satisfaction and other organizational qualities. These existing studies support the findings obtained from the current study (Britton, 2008; Basım & Çetin, 2011; Luthans et al., 2007; Larrabee et al., 2010; Larson & Luthans, 2006; Youssef & Luthans, 2007). It is supported by the that individuals with high resilience levels have high job satisfaction. Likewise, Çelik, Sanberk and Deveci (2017), who investigated resilience and life satisfaction, found a significant positive relationship between life satisfaction and resilience levels of teacher candidates.

A significant positive relationship between resilience and organizational climate was found as a result of the current study. No research studies investigating the relationship between teachers' resilience levels and perceptions of organizational climate exist in the literature. In this regard, the information provided by the current study is thought to be contributing to the literature.

The results of the study also indicated that there was no significant difference in the resilience levels of the teachers in terms of gender except the perception of self subscale. When the scores obtained from the perception of self subscale were examined, it was found that the mean scores of males were significantly higher than the mean scores of females. Most research investigating the level of resilience in terms of gender ((Harrisson, Loiselle, Duquette, & Semenic, 2002; Özcan, 2005; Maddi, Harvey, Khoshaba, Lu, Persico, & Brow,

2006; Terzi, 2008; Kırımoğlu, Yıldırım & Temiz, 2010; Sezgin, 2012; Yalçın, 2013; Gürgan, 2014; Büyükşahin Çevik et al., 2016) concluded that gender has no effect on resilience. On the other hand, research with different results on resilience-gender relationship also exist. Hannah and Morrisey (1986) found that women had higher levels of resilience than men. Kaner, Bayraklı and Güzeller (2011) found that mothers are more resilient in self-competence dimension than fathers. In the study conducted by Bozgeyikli and Şat (2014), it was found that the resilience levels of female teachers were significantly higher than that of male teachers. Contrary to research that indicate difference is in the advantage of women, Yalçın (2013) found that male teachers had a higher level of resilience than females in the study conducted with elementary school teachers aiming to explore the relationship between burnout and stress, resilience and academic optimism.

It was found out that there was no meaningful difference in the resilience levels of teachers according to their age and experience in the profession. The results from previous research also support that age has no effect on the level of resilience (Harrisson et al., 2002, Chan, 2003, Maddi et al., 2006; Sezgin, 2009; Sezgin, 2012; Genç, 2014). On the contrary, Hannah and Morrisey (1986) concluded that as the individual gets older, there is a significant decrease in the level of resilience of women. Also shown by Kaner et al. (2011) that in parents' self-competence beliefs and conduct of life decrease with age. Yalçın (2013) determined that teachers between the ages of 41-50 have the highest level of perception of resilience. The fact that there is no significant difference in the level of resilience by experience was supported by the research conducted by Harrisson et al. (2002), Sezgin (2009), Kırımoğlu and colleagues (2010), Sezgin (2012) and Yalçın (2013). On the other hand, the results obtained from the study on teachers working in private schools indicated that the mean scores of candidate teachers were significantly lower than the mean scores of teachers with 6-10 years and 15 years of experience (Bozgeyikli & Şat, 2014).

The results of the study showed that in terms of the school level teachers work at, resilience levels differed significantly only in the family cohesion subscale. This difference suggests that secondary school teachers have a lower level of family cohesion than high school and elementary school teachers. There is no finding in the literature on whether teachers' resilience depends on the school level; however, in the study conducted by Yalçın (2013), it was found out that the resilience level of elementary school teachers is higher than that of branch teachers. Prior to 4+4+4 educational system, both elementary and secondary school levels co-existed in the first 8 years; therefore, it can be assumed that elementary school teachers participated in the study represent elementary schools, and branch teachers represent secondary schools. This supports the findings obtained from this research study by pointing out that the teachers working at elementary school level have higher levels of resilience than the teachers working at secondary school level.

The results obtained from the current research can be said to have reached the main purpose of the study. The following suggestions can be made by taking the results into consideration.

In this study, demographic characteristics were determined as gender, age, school level and experience. Different variables such as marital status, branch, socio-economic status of the school can be examined in similar studies. In addition to the data collection instruments used in the current study, different instruments that measure the same concepts on a sample of teachers can also be used in different research studies to create an opportunity to make a comparison. Studies with larger samples can motivate the development of in-service trainings and school-based practices to raise the level of resilience of teachers; and they can especially enlighten high-level managers when educational policies are being developed. It would be of considerable benefit if researchers focus on designing training programs for the "development of resilience", as a very rare subject in national literature, and on whether these programs achieve the desired results in increasing the efficiency of teachers, who are seen as the leading actors of the education system. Because resilience can be improved, various education programs and trainings to be given in this subject may increase the level of teachers' resilience.

References

Abbott, G. N., White, F. A. and Charles, M.A. (2005). Linking Values and Organizational Commitment: A Correlational and Experimental İnvestigation in Two Organizations. *Journal of Occupational & Organizational Psychology*, 78(4), 531–551.

- Allen, N. J. and Meyer, J. P. (1990). The Measurement and Antecedents of Affective, Continuance and Normative Commitment to the Organization. *Journal of Occupational Psychology*, 63(1), 1-18.
- Bayrak, C. (2004). *Öğretmenlik Mesleğine Giriş*. Ö. Demirel ve Z. Kaya (Editörler). (Beşinci Baskı). Ankara: PegemA Yayıncılık.
- Baltaş, A. ve Baltaş, Z. (2000). Stres ve Başaçıkma Yolları. (Yirminci Baskı). İstanbul: Remzi Kitabevi.
- Basım, H. N. ve Çetin, F. (2011). Yetişkinler İçin Psikolojik Dayanıklılık Ölçeği'nin Güvenilirlik ve Geçerlilik Çalışması. *Türk Psikiyatri Dergisi*, 22, 104-114.
- Bitmiş, M. G., Sökmen, A. ve Turgut, H. (2013). Psikolojik Dayanıklılığın Tükenmişlik Üzerine Etkisi: Örgütsel Özdeşleşmenin Aracılık Rolü. *Gazi Üniversitesi İktisadi ve İdari Bilimler Fakültesi Dergisi*, 15(2), 27-40.
- Bozgeyikli, H. ve Şat, A. (2014). Öğretmenlerde Psikolojik Dayanıklılık ve Örgütsel Vatandaşlık Dayranışlarının Bazı Değişkenler Açısından İncelenmesi: Özel Okul Örneği. *HAK-İŞ Uluslararası Emek ve Toplum Dergisi*, 3 (5), 172-191.
- Britton, K. (2008). Increasing Job Satisfaction: Coaching with Evidence-based Interventions. *Coaching: An International Journal of Theory, Research and Practice*, 1(2), 176-185.
- Büyükşahin Çevik, G. Doğan, İ. ve Yıldız, M. A. (2016). Pedagojik Formasyon Eğitimi Alan Öğrencilerin Yılmazlık ve Tükenmişliklerinin İncelenmesi. *Mersin Üniversitesi Eğitim Fakültesi Dergisi*, 12(3), 971-984.
- Çapri, B. (2013). The Turkish Adaptation of the Burnout Measure-Short Version (BMS) and Couple Burnout Measure-Short Version (CBMS) and the Relationship between Career and Couple Burnout Based on Psychoanalytic Existential Perspective. *Educational Sciences: Theory & Practice*, 13(3), 1408-1417.
- Chan, D. W. (2003). Hardiness and its Role in The Stres-Burnout Relationship Among Prospective Chinese Teachers in Hong Kong. *Teaching and Teacher Education*, 19, 381-395.
- Crossman, A. and Harris, P. (2006). Job Satisfaction of Secondary School Teachers. *Educational Management Administration and Leadership*, 34, 29-46. http://dx.doi.org/10.1177/1741143206059538
- Çelik, M., Sanberk, İ. ve Deveci, F. (2017). Öğretmen Adaylarının Yaşam Doyumlarının Yordayıcısı Olarak Psikolojik Dayanıklılık ve Umutsuzluk. İlköğretim Online, 16(2). 654-662
- Çetin, F., Şeşen, H. ve Basım, N. (2013). Örgütsel Psikolojik Sermayenin Tükenmişlik Sürecine Etkileri: Kamu Sektöründe Bir Araştırma. *Anadolu Üniversitesi Sosyal Bilimler Dergisi*, 13(3), 95-108.
- Demir, M. K. ve Kara, N. (2014). İlkokul Birinci Sınıf Öğretmenlerinin Tükenmişlik Durumu. *Eğitimde Kuram ve Uygulama Dergisi*, 10(2), 424-440.
- Farber, B. A. (1984). Stress and Burnout in Suburban Teachers. Journal of Educational Research. 77 (6), 325-332.
- Firestone, W. A. and Pennell, J. R. (1993). Teacher Commitment, Working Conditions, And Differential Incentive Policies. *Review of Educational Research*, 63(4), 489-525.
- Friborg, O., Barlaug, D., Martinussen, M., Rosenvinge, J. H. and Hjemdal, O. (2005). Resilience in Relation to Personality and İntelligence. *International Journal of Methods in Psychiatric Research*, 14(1) 29-42.
- Genç, A. (2014). *Psikolojik Dayanıklılığın Örgütsel Bağlılık ve İşten Ayrılma Niyetine Etkisi: Görgül Bir Araştırma*. Yayımlanmamış yüksek lisans tezi, Başkent Üniversitesi, Sosyal Bilimler Enstitüsü, Ankara.
- Gizir, C. A. (2004). Akademik Sağlamlık: Yoksulluk İçindeki Sekizinci Sınıf Öğrencilerinin Akademik Başarılarına Katkıda Bulunan Koruyucu Faktörlerin İncelenmesi. Yayınlanmamış doktora tezi, Orta Doğu Teknik Üniversitesi, Sosyal Bilimler Enstitüsü, Ankara.
- Gürgan, U. (2014). Üniversite Öğrencilerinin Yılmazlık ve İyilik Halinin Bazı Değişkenlere Göre İncelenmesi. *NWSA-Education Sciences*, 9 (1), 18-35.
- Hackman, J. R. and Oldham, G. R. (1975). Development of the Job Diagnostic Survey. *J Appl Psychol*, 60, 159-170.

- Hannah, T. E. and Morrisey, C. (1986). Correlates of Psychological Hardiness in Canadian Adolescents. *The Journal of Social Psychology*, 1271(4), 339-344.
- Hanton S., Evans L. and Neil R. (2003). Hardiness and the Competitive Trait Anxiety Response. Anxiety, Stress and Coping. *An International Journal*, 16, 167-184.
- Harrisson, M., Loiselle, C. G., Duquette, A. and Semenic, S. E. (2002). Hardiness, Work Support and Psychological Distress Among Nursing Assistants and Registered Nurses in Quebec. *Journal of Advanced Nursing*, 38 (6), 584-591.
- Hoy, W. K., & Tarter, C. J. (1997). The road to open and healthy schools: A handbook for change, secondary edition. Thousand Oaks, CA: Corwin Press.
- Just, H. D. (1999). Hardiness: Is it still a valid concept? ERIC, ED 436 704.
- Kaner, S., Bayraklı, H. ve Güzeller, C. O. (2011). Anne-Babaların Yılmazlık Algılarının Bazı Değişkenler Açısından İncelenmesi. *Ankara Üniversitesi Eğitim Bilimleri Fakültesi Özel Eğitim Dergisi*, 12(2) 63-78.
- Karadağ, E., Baloğlu, N., Korkmaz, T. ve Çalışkan, N. (2008). Eğitim Kurumlarında Örgüt İklimi ve Örgüt Etkinlik Algısı Arasındaki İlişkinin Değerlendirilmesi. *Ahi Evran Üniversitesi Eğitim Fakültesi Dergisi*, 9(3), 63-71.
- Kırımoğlu, H., Yıldırım, Y. ve Temiz, A. (2010). İlk ve Ortaöğretim Okullarında Görev Yapan Beden Eğitimi ve Spor Öğretmenlerinin Yılmazlık Düzeylerinin İncelenmesi (Hatay İli Örneği). *Niğde Üniversitesi Beden Eğitimi ve Spor Bilimleri Dergisi*, 4(1), 8897.
- Lammers, J. C., Atouba, Y. L. and Carlson, E. J. (2013). Which İdentities Matter? A Mixed-Method Study of Group, Organizational, and Professional İdentities and Their Relationship to Burnout. *Management Communication Quarterly*, 27, 503-536. doi:10.1177/0893318913498824
- Larrabee, J.H., Wu, Y., Persily, C.A., Simoni, P.S., Johnston, ... Gladden, S.D. (2010). Influence of Stress Resiliency on RN Job Satisfaction and Intent to Stay. *Western Journal of Nursing Research*, 32(1), 81102.
- Larson, M. and Luthans, F. (2006). Potential Added Value of Psychological Capital in Predicting Work Attitudes. *Journal of Leadership and Organizational Studies*, 13(2), 75-92.
- Luthans, F. (2005). Organisational Behaviour. McGraw-Hill, Irwin.
- Luthans, K. W. and Jensen, S. M. (2005). The Linkage Between Psychological Capital and Commitment to Organizational Mission. *Journal of Nursing Administration*, 35 (6), 304-310.
- Luthans, F., Avolio, B. J., Avey, J. B. and Norman S. M. (2007). Positive Psychological Capital: Measurement and Relationship with Performance and Satisfaction. *Personnel Psychology*, 60, 541-572.
- Maddi, S. R. and Kobasa, S. C. (1984). The Hardy Executive: Health Under Stress. Homewood: Dow Jones-Irwin.
- Maddi, S. R., Harvey, R. H., Khoshaba, D. M., Lu, J. L., Persico, M. and Brow, M. (2006). The Personality Construct of Hardiness, III: Relationships with Repression, İnnovativeness, Authoritarianism, And Performance. *Journal of Personality*, 74(2), 575-598.
- O'Reilly, C. and Chatman, J. (1986). Organizational Commitment and Psychological Attachment: The Effects of Compliance, İdentification, and İnternalization On Prosocial Behavior. *Journal Of Applied Psychology*, 71(3), 492-500.
- Öğülmüş, S. (2001). Bir Kişilik Özelliği Olarak Yılmazlık. I. Ulusal Çocuk ve Suç Sempozyumu: Nedenler ve Önleme Çalışmaları. 29-30 Mart. Ankara.
- Özcan, B. (2005). Anne-Babaları Boşanmış ve Anne-Babaları Birlikte Olan Lise Öğrencilerinin Yılmazlık Özellikleri ve Koruyucu Faktörler Açısından Karşılaştırılması. Yayınlanmamış yüksek lisans tezi. Ankara Üniversitesi, Eğitim Bilimleri Enstitüsü, Ankara.
- Pines, A. M. (2005). The Burnout Measure Short Version (BMS). *International Journal of Stress Management*, 12, 78–88.
- Pines, A. M. and Aronson, E. (1988). Career Burnout: Causes and Cures. New York: Free Press.

- Sezgin, F. (2009). Relationships Between Teacher Organizational Commitment, Psychological Hardiness and Some Demographic Variables İn Turkish Primary Schools. *Journal Of Educational Administration*, 47(5), 630-651.
- Sezgin, F. (2012). İlköğretim Okulu Öğretmenlerinin Psikolojik Dayanıklılık Düzeylerinin İncelenmesi. *Kastamonu Eğitim Dergisi*, 20(2), 489-502.
- Silah, M. (2002). Sanayi İşletmelerinde Önemli ve Çağdaş Bir Gereksinim: Süreç Danışmanlığı Uygulamaları. Çukurova Üniversitesi Sosyal Bilimler Dergisi, 26 (1), 143–168.
- Stewart, M., Reid, G. J. and Mangham, C. (1997). Fostering Children's Resilience. *Journal of Pediatric Nursing*, 12 (1), 21-31.
- Tagiuri, R. (1968). The Concept of Organizational Climate. In R. Tagiuri and G. H. Litwin (Eds.). *Organizational Climate: Exploration of a Concept*. USA: Boston, Harvard University.
- Taşdan, M. (2008). Türkiye'deki Kamu ve Özel İlköğretim Okulu Öğretmenlerinin Bireysel Değerleri ile Okulun Örgütsel Değerleri Arasındaki Uyum Düzeyi, İş Doyumu ve Algılanan Sosyal Destek ile İlişkisi. Yayımlanmamış doktora tezi. Ankara Üniversitesi, Eğitim Bilimleri Enstitüsü, Ankara.
- Terzi, Ş. (2008). Üniversite Öğrencilerinde Kendini Toparlama Gücünün İçsel Koruyucu Faktörlerle İlişkisi. Hacettepe Üniversitesi Eğitim Fakültesi Dergisi, 35, 297-306.
- Tsui, K. T. and Cheng, Y. C. (1999). School Organizational Health and Teacher Commitment: A Contingency Study with Multi-Level Analysis. *Educational Research and Evaluation*, 5(3), 249268.
- Üstüner, M. (2009). Teachers' Organizational Commitment Scale: A Validity and Reliability Study. *Inonu University Journal Of The Faculty Of Education*, 10 (1), 1-17.
- Yalçın, S. (2013). İlköğretim Okulu Öğretmenlerinin Mesleki Tükenmişlik Düzeyleri ile Stres, Psikolojik Dayanıklılık ve Akademik İyimserlik Arasındaki İlişki. Yayımlanmamış yüksek lisans tezi. Gazi Üniversitesi, Eğitim Bilimleri Enstitüsü, Ankara.
- Yılmaz, K. ve Altınkurt, Y. (2013). Örgütsel İklim Ölçeğinin Türkçeye Uyarlanması: Geçerlik ve Güvenirlik Çalışması. *Trakya Üniversitesi Eğitim Fakültesi Dergisi*, 3(1), 1-11.
- Yılmaz, H. ve Sipahioğlu, Ö. (2012). Investigating Resilience of Adolescents in Different Risk Groups. *Elementary Education Online*, 11(4), 927-944.
- Youssef, C. M. and Luthans, F. (2007). Positive Organizational Behavior in The Workplace. *Journal Of Management*, 33 (5), 774-800.